

*Research Article*

## **Approximation Technics for an Unsteady Dynamic Koiter Shell**

Saloua Mani Aouadi

Received 8 November 2006; Revised 3 March 2007; Accepted 11 June 2007

Recommended by Michela Redivo Zaglia

We propose a mixed formulation in dynamical elasticity of shells which allows a locking-free finite element approximation in particular cases of Koiter shells.

Copyright © 2007 Saloua Mani Aouadi. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

### **1. Introduction**

Finite element solutions of shell models suffer from lack of stability when the shell thickness goes to zero. Indeed, most often, a large error discretization appears and compromises the method [1, 2]. This lack of robustness, known as locking, is considered as an actual challenge to approximate thin shells.

Numerous approaches for overcoming locking [1–6] make an essential use of a stable element for a mixed formulation of the initial problem in which the new unknowns play a crucial role in the stability analysis. In the pioneering paper [3], Arnold and Brezzi treat the Naghdi shell model as an abstract saddle point problem and consider a mixed finite element method to approximate it. Their method is robust in particular cases since they provide a uniform error estimate under some geometrical restrictions, namely, the geometric coefficients are constant locally on each element. Bramble and Sun [5] have used the Arnold and Brezzi approach to provide a weaker stability condition when geometric coefficients are smooth enough. They establish an optimal error estimation as long as  $h^2\varepsilon^{-1}$  is bounded.

In the present paper, we introduce a mixed formulation for a bending-dominated dynamic Koiter shell. The approach of Arnold and Brezzi [3] is used with significant modifications but with the same geometric restrictions. Our formulation is valid for Koiter shells. It includes dynamic effects and is valid for shells whose midsurface can have charts with discontinuous second derivatives.

The paper is organized as follows. The shell Koiter dynamic model is introduced in Section 2. In Section 3, we present our mixed formulation and prove an existence and uniqueness solution. In Section 4, we focus on the space discretization. A uniform convergence with respect to the thickness is obtained under the Arnold and Brezzi assumption [3]. This restrictive constraint satisfied in [3] for cylindrical shell is satisfied in our approach for  $C^1$  junction of cylindrical shells. In Sections 5 and 6, we study the fully discrete problem and prove time and uniform space convergence.

## 2. The shell model

Greek indices take their values in the set  $\{1, 2\}$  and the Latin indices take their values in  $\{1, 2, 3\}$ . Products containing repeated indices are summed.

Let  $\omega$  be a domain of  $\mathbb{R}^2$ . We consider a shell whose midsurface is given by  $S = \bar{\varphi}(\bar{\omega})$ , where  $\bar{\varphi} \in W^{2,\infty}(\omega, \mathbb{R}^3)$  is an injective mapping. Let  $\bar{a}_\alpha = \bar{\varphi}_\alpha$ ,  $\alpha = 1, 2$ ;  $\bar{a}_3 = \bar{a}_1 \wedge \bar{a}_2 / \|\bar{a}_1 \wedge \bar{a}_2\|$  be the covariant basis vectors and let  $\bar{a}^\alpha$  defined by  $\bar{a}^\alpha \cdot \bar{a}_\beta = \delta_\beta^\alpha$ ;  $\bar{a}_3 = \bar{a}^3$  be the contravariant basis vectors. Let  $\varepsilon$  be the shell thickness. The first and second fundamental forms of the midsurface are defined componentwise by

$$a_{\alpha\beta} = \bar{a}_\alpha \cdot \bar{a}_\beta, \quad b_{\alpha\beta} = \bar{a}_3 \cdot \bar{a}_{\alpha,\beta} = -\bar{a}_\alpha \cdot \bar{a}_{3,\beta}. \quad (2.1)$$

Let  $a = \|\bar{a}_1 \wedge \bar{a}_2\|^2$  be the determinant of  $(a_{\alpha\beta})_{\alpha\beta}$ . We note  $a^{\alpha\beta} := \bar{a}^\alpha \cdot \bar{a}^\beta$  the first fundamental form contravariant components and  $b_\gamma^\alpha := a^{\alpha\beta} b_{\beta\gamma}$  the mixed components of the second fundamental form. For a displacement field  $\bar{u}$ , we define the linearized change of curvature tensor  $\underline{\Upsilon} = (\Upsilon_{\alpha\beta})_{\alpha,\beta}$  and the linearized membrane strain tensor  $\underline{\Lambda} = (\Lambda_{\alpha\beta})_{\alpha,\beta}$  [7–9] by

$$\begin{aligned} \Upsilon_{\alpha\beta}(\bar{u}) &= (\bar{u}_{\alpha\beta} - \Gamma_{\alpha\beta}^\rho \bar{u}_\rho) \cdot a_3, \\ \Lambda_{\alpha\beta}(\bar{u}) &= \frac{\bar{u}_\alpha \cdot \bar{a}_\beta + \bar{u}_\beta \cdot \bar{a}_\alpha}{2}. \end{aligned} \quad (2.2)$$

Set  $\underline{\underline{E}} = (E^{\alpha\beta\lambda\mu})_{\alpha\beta\lambda\mu}$  the elasticity tensor, assumed to be elliptic, given by  $E^{\alpha\beta\lambda\mu} = (\varepsilon/2(1 - \nu^2))(a^{\alpha\lambda} a^{\beta\mu} + a^{\alpha\mu} a^{\beta\lambda} + 2\nu a^{\alpha\beta} a^{\lambda\mu})$ , where  $\varepsilon > 0$  and  $\nu \in (0, 1/2)$  denote the Young's module and Poisson ratio of the material.

We suppose the shell clamped on a nonempty part  $\Gamma$  of its boundary and set

$$\begin{aligned} H_\Gamma^1(\omega) &= \{u \in H^1(\omega), u = 0 \text{ on } \Gamma\}, \\ H_\Gamma^2(\omega) &= \left\{u \in H^2(\omega), u = \frac{\partial u}{\partial n} = 0 \text{ on } \Gamma\right\}, \\ V &= \{\vec{v} = v_i a^i, v_\alpha \in H_\Gamma^1(\omega), v_3 \in H_\Gamma^2(\omega)\}. \end{aligned} \quad (2.3)$$

Note that  $V$  is a Hilbert space when endowed with the norm

$$\|v\|_V = \left( \sum_\alpha \|v_\alpha\|_{H^1}^2 + \|v_3\|_{H^2}^2 \right)^{1/2}. \quad (2.4)$$

Consider the dynamic bending-dominated Koiter shell problem

$$\begin{aligned} & \text{find } \vec{u} \in L^2(0, T; V) \\ & \tilde{m}(\vec{u}; \vec{v}) + \tilde{A}(\vec{u}; \vec{v}) = \tilde{L}(\vec{v}) \quad \forall \vec{v} \in V \text{ a.e. in time,} \end{aligned} \quad (2.5)$$

where the double superscript  $\ddot{v}$  indicates double differentiation in time of the field  $v$ ,  $\tilde{m}$  is the inertia term,  $\tilde{L}$  is a linear form corresponding to external forces, and  $\tilde{A}$  is a bilinear form corresponding to internal energy given by

$$\begin{aligned} \tilde{A}(\vec{u}; \vec{v}) &= \varepsilon^3 \int_{\omega} \frac{1}{12} E^{\alpha\sigma\lambda\mu} \Upsilon_{\alpha\sigma}(\vec{u}) \Upsilon_{\lambda\mu}(\vec{v}) \sqrt{a} dx \\ &= \varepsilon \int_{\omega} E^{\alpha\sigma\lambda\mu} \Lambda_{\alpha\sigma}(\vec{u}) \Lambda_{\lambda\mu}(\vec{v}) \sqrt{a} dx. \end{aligned} \quad (2.6)$$

Note that  $\tilde{A}$  is continuous and coercive on  $V$  [8]. The following assumptions, to check that the shell is in a bending-dominated state [1, 3, 5, 10, 11], are made about the scaling of external forces and inertia term:

$$\begin{aligned} \tilde{L}(\vec{v}) &= \varepsilon^3 \int_{\omega} \vec{f} \cdot \vec{v} \sqrt{a} dx, \\ \tilde{m}(\vec{u}; \vec{v}) &= \varepsilon^3 \int_{\omega} \rho \ddot{u} \cdot \vec{v} \sqrt{a} dx, \end{aligned} \quad (2.7)$$

where  $\rho$  denotes the surface mass density of the shell.

*Remark 2.1.* As its thickness goes to zero, the asymptotic behavior of a shell is governed either by membrane or flexural two-dimensional equation [10]. This distinction rests on whether the space  $V_1 = \{v \in V \mid \Lambda_{\alpha\beta}(v) = 0, \alpha, \beta = 1, 2\}$  of linearized inextensional displacement skipping invariant at first-order midsurface metric is reduced or not to  $\{0\}$ . The scaling of external forces plays an important role in this classification. By supposing  $V_1 \neq \{0\}$  and the resultant of the applied forces of the form  $\varepsilon^3 \vec{f}$ ,  $\vec{f} \notin V_1^0$  the polar set of  $V_1$ , we suppose that the shell is in the bending-dominated state.

*Remark 2.2.* It has been proved [12] by asymptotic analysis that the dynamic equations of shells lead to the dynamic equations of flexural shells when the external forces and inertia term are multiplied by thickness on power 3.

### 3. Mixed formulation

We introduce a new unknown  $\underline{\lambda}$  which represents the membrane stress aside a multiplier factor. We set, for a real  $c_0$  such that  $0 < c_0 < \varepsilon^{-2}$ ,

$$\underline{\lambda} = (\lambda_{\alpha\gamma})_{\alpha\gamma}, \quad \lambda_{\alpha\gamma} = \left( \frac{1}{\varepsilon^2} - c_0 \right) E^{\alpha\gamma\sigma\mu} \Lambda_{\sigma\mu}(\vec{u}), \quad (3.1)$$

and seek  $(\vec{u}, \underline{\lambda}) \in L^2(0, T; V) \times L^\infty(0, T; W)$  such that we have a.e. in time

$$\begin{aligned} m(\vec{u}(t); \vec{v}) + A(\vec{u}(t); \vec{v}) + B(\vec{v}; \underline{\lambda}(t)) &= L(\vec{v}) \quad \forall \vec{v} \in V, \\ B(\vec{u}(t); \underline{\lambda}) - \frac{\varepsilon^2}{1 - c_0 \varepsilon^2} C(\underline{\lambda}(t); \underline{\lambda}) &= 0 \quad \forall \underline{\lambda} \in W := \{\varphi / \varphi^{\alpha\beta} \in L^2(\omega)\}, \end{aligned} \tag{3.2}$$

where

$$\begin{aligned} A(\vec{u}; \vec{v}) &:= \int_{\omega} \frac{1}{12} E^{\alpha\sigma\lambda\mu} \Upsilon_{\alpha\sigma}(\vec{u}) \Upsilon_{\lambda\mu}(\vec{v}) \sqrt{a} \, dx \\ &\quad + c_0 \int_{\omega} E^{\alpha\sigma\lambda\mu} \Lambda_{\alpha\sigma}(\vec{u}) \Lambda_{\lambda\mu}(\vec{v}) \sqrt{a} \, dx, \\ B(\vec{v}; \underline{\xi}) &:= \int_{\omega} \Lambda_{\alpha\sigma}(\vec{v}) \xi^{\alpha\sigma} \sqrt{a} \, dx, \\ C(\underline{\lambda}; \underline{\xi}) &:= \int_{\omega} (E^{-1})_{\alpha\sigma\delta\mu} \lambda^{\delta\mu} \xi^{\alpha\sigma} \sqrt{a} \, dx, \\ m(\vec{u}; \vec{v}) &= \int_{\omega} \rho \vec{u} \cdot \vec{v} \sqrt{a} \, dx, \quad \varepsilon^3 L(\vec{v}) = \tilde{L}(\vec{v}). \end{aligned} \tag{3.3}$$

We endow  $W$  by the standard  $L^2$  product norm and by the seminorm

$$||| \underline{\lambda} ||| = \sup_{\vec{v} \in V} \frac{B(\vec{v}; \underline{\lambda})}{\|\vec{v}\|}. \tag{3.4}$$

Note that the bilinear forms  $A$ ,  $B$ , and  $C$  are continuous, respectively, on  $V \times V$ ,  $V \times W$ , and  $W \times W$ , such that  $A$  is  $V$ -elliptic and  $C$  is  $W$ -elliptic. The form  $\tilde{A}$  defined on  $V \times W \times V \times W$  by

$$\tilde{A}(\vec{u}, \underline{\lambda}; \vec{v}, \underline{\lambda}) = A(\vec{u}; \vec{v}) + B(\vec{v}, \underline{\lambda}) - B(\vec{u}, \underline{\lambda}) + \frac{\varepsilon^2}{1 - c_0 \varepsilon^2} C(\underline{\lambda}, \underline{\lambda}) \tag{3.5}$$

is then elliptic which allows, using Galerkin approximation [13], to establish the existence result proved in Theorem 3.2.

We introduce the Hilbert basis  $(\underline{\xi}_b^j)_{j=1, \infty}$  of  $W$  and  $(\vec{v}_b^j)_{j=1, \infty}$  of  $V$  made of the normed eigenvectors solution of the elliptic eigenproblem

$$(\vec{v}_b^j; \vec{v})_V = m(\vec{v}_b^j; \vec{v}) \quad \forall \vec{v} \in V. \tag{3.6}$$

We introduce the subspaces  $V^N$  of  $V$  and  $W^N$  of  $W$  by

$$\begin{aligned} V^N &= \left\{ \vec{v} \in V, \vec{v} = \sum_{j=1}^N g^j \vec{v}_b^j \right\}, \\ W^N &= \left\{ \underline{\xi} \in W, \underline{\xi} = \sum_{j=1}^N k^j \underline{\xi}_b^j \right\}. \end{aligned} \tag{3.7}$$

We then define the well-posed finite-dimensional problem.

Find  $\vec{u}^N(t) = \sum_{j=1}^N g^j(t) \vec{v}_b^j \in V^N$ ;  $\underline{\underline{\lambda}}^N(t) = \sum_{j=1}^N k^j(t) \underline{\underline{\xi}}_b^j \in W^N$  such that we have a.e. in time

$$m(\vec{u}^N; \vec{v}_b^j) + A(\vec{u}^N; \vec{v}_b^j) + B(\vec{v}_b^j; \underline{\underline{\lambda}}^N) = L(\vec{v}_b^j) \quad \forall j = 1, N, \quad (3.8)$$

$$B(\vec{u}^N; \underline{\underline{\xi}}_b^j) = \frac{\varepsilon^2}{1 - c_o \varepsilon^2} C(\underline{\underline{\lambda}}^N; \underline{\underline{\xi}}_b^j) \quad \forall j = 1, N, \quad (3.9)$$

$$\lim_{N \rightarrow \infty} \vec{u}^N(0) = \vec{u}(0) \quad \text{in } V, \quad \lim_{N \rightarrow \infty} \underline{\underline{\lambda}}^N(0) = \underline{\underline{\lambda}}(0) \quad \text{in } L^2(\omega, \mathbb{R}^3).$$

In this framework, we can prove the following lemma.  $C_o$  will denote a positive constant independent of solution and of space and time discretization steps. It can vary from one equality to another.

LEMMA 3.1. *The sequence of solutions  $(\vec{u}^N; \underline{\underline{\lambda}}^N)$  satisfies*

$$\vec{u}^N \text{ is bounded in } L^\infty(0, T, V), \quad (3.10)$$

$$\underline{\underline{\lambda}}^N \text{ is bounded in } L^\infty(0, T, L^2(\omega; \mathbb{R}^3)), \quad (3.11)$$

$$\vec{u}^N \text{ is bounded in } L^2(0, T, V'), \quad (3.12)$$

$$\underline{\underline{\lambda}}^N \text{ is bounded in } L^\infty(0, T, W). \quad (3.13)$$

*Proof.* By multiplying (3.8) by  $\dot{g}^j(t)$ , summing in  $j$ , integrating in time from 0 to  $t$ , and using (3.9) after multiplying by  $\dot{k}^j(t)$  and summing in  $j$ , we observe that the solution satisfies the fundamental energy estimation

$$\begin{aligned} & \frac{1}{2} m(\vec{u}^N(t); \vec{u}^N(t)) + \frac{1}{2} A(\vec{u}^N(t); \vec{u}^N(t)) + \frac{\varepsilon^2}{2(1 - c_o \varepsilon^2)} C(\underline{\underline{\lambda}}^N(t); \underline{\underline{\lambda}}^N(t)) \\ &= \int_0^t L(\vec{u}^N)(\tau) d\tau + \frac{1}{2} m(\vec{v}(0); \vec{v}(0)) + \frac{1}{2} A(\vec{u}(0); \vec{u}(0)) + \frac{\varepsilon^2}{2(1 - c_o \varepsilon^2)} C(\underline{\underline{\lambda}}(0); \underline{\underline{\lambda}}(0)). \end{aligned} \quad (3.14)$$

Using the positivity of  $m$  and the coercivity of  $A$  on  $V$  and  $C$  on  $W$ , we get

$$C_o \left\{ \|\vec{u}^N(t)\|_V^2 + \frac{\varepsilon^2}{2(1 - c_o \varepsilon^2)} \|\underline{\underline{\lambda}}^N(t)\|_W^2 \right\} \leq \int_0^t \|L\|_{V'} \|\vec{u}^N(\tau)\|_V d\tau + C_o. \quad (3.15)$$

Applying the Gronwall's lemma and using the positivity of  $\|\underline{\underline{\lambda}}^N(t)\|_W^2$ , we first deduce that  $\|\vec{u}^N(t)\|_V^2$  is uniformly bounded in time, which implies in turn that  $\|\underline{\underline{\lambda}}^N(t)\|_W$  is

uniformly bounded in time and proves (3.10) and (3.13). Using the positivity of  $A$  and  $C$ , we get

$$\frac{1}{2}m(\vec{u}^N(t); \vec{u}^N(t)) \leq \int_0^t \|L\|_{V'} \|\vec{u}^N(\tau)\|_V d\tau + C_0 \tag{3.16}$$

which proves (3.11).  $P_N$  and  $Q_N$  assign the projection operators defined, respectively, from  $V$  in  $V_N$  and  $W$  in  $W_N$  by

$$\begin{aligned} P_N(\vec{v}) &:= \sum_{j=0}^N (\vec{v}; \vec{v}_b^j)_V \vec{v}_b^j \quad \forall \vec{v} \in V, \\ Q_N(\underline{\lambda}) &= \sum_{j=0}^N (\underline{\lambda}; \underline{\xi}_b^j)_W \underline{\xi}_b^j \quad \forall \underline{\lambda} \in W. \end{aligned} \tag{3.17}$$

By construction, we have  $\|P_N\|_{L(V,V)} \leq 1$ ,  $\|Q_N\|_{L(W,W)} \leq 1$ , and

$$m(\vec{v}_b^l; \vec{v} - P_N(\vec{v})) = \sum_{j=N+1}^{\infty} (\vec{v}; \vec{v}_b^j)_{H^1} m(\vec{v}_b^l; \vec{v}_b^j) = 0 \quad \forall l = 1, N. \tag{3.18}$$

We can then write, from (3.8), for each  $\vec{v} \in L^2(0, T; V)$ ,

$$\begin{aligned} &\int_0^T m(\vec{u}^N; \vec{v}) \\ &= \int_0^T m(\vec{u}^N; P_N(\vec{v})) = - \int_0^T A(\vec{u}^N; P_N(\vec{v})) - \int_0^T B(P_N(\vec{v}); \underline{\lambda}^N) + L(P_N(\vec{v})). \end{aligned} \tag{3.19}$$

Using (3.10) and (3.13), we obtain for each  $\vec{v} \in L^2(0, T; V)$ ,

$$\left| \int_0^T m(\vec{u}^N; \vec{v}) \right| \leq C_0 \|\vec{v}\|_{L^2(0,T,V)} \tag{3.20}$$

which is (3.12), and the lemma is proved. □

The above bounds can now be used to construct a solution for the problem (3.2) by compactness arguments and we get the following theorem.

**THEOREM 3.2.** *The mixed problem (3.2) has a unique solution  $(\vec{u}; \underline{\lambda})$ . The primal variable  $\vec{u}$  is the solution of the Koiter shell problem (2.5). The auxiliary variable  $\underline{\lambda}$  verifies  $\lambda_{\alpha\gamma}(t) = (1/\varepsilon^2 - c_0)E^{\alpha\gamma\sigma\mu}\Lambda_{\sigma\mu}(\vec{u}(t))$  a.e in time.*

*Proof.* For any solution  $(\vec{u}; \underline{\lambda})$  of (3.2), it is clear that  $\vec{u}$  is a solution of (2.5) and  $\underline{\lambda}(t)$  is given by (3.1) a.e. in time. To construct a solution, we deduce from (3.10)–(3.13) that there exist subsequences  $(\vec{u}^N)_N$ ,  $(\vec{u}^N)_N$ ,  $(\vec{u}^N)_N$ , and  $(\underline{\lambda}^N)_N$  weakly converging towards

$\vec{u}$ ,  $\vec{v}$ ,  $\vec{\gamma}$ , and  $\vec{\lambda}$  in  $L^2(0, T, V)$ ,  $L^2(0, T, L^2(\omega; \mathbb{R}^3 \times \mathbb{R}^3))$ ,  $L^2(0, T, V')$ , and  $L^2(0, T, W)$ , respectively. Consequently, we have

$$\begin{aligned}\vec{u}(t) &= \vec{u}(0) + \int_0^t \vec{v}(\tau) d\tau, \quad \text{a.e. in time,} \\ \vec{v}(t) &= \vec{v}(0) + \int_0^t \vec{\gamma}(\tau) d\tau, \quad \text{a.e. in time}\end{aligned}\tag{3.21}$$

and then  $(\partial/\partial t)\vec{u}(t) = \vec{v}(t)$  and  $(\partial/\partial t)\vec{v}(t) = \vec{\gamma}(t)$ , a.e. in time.

On the other hand we have for each  $\vec{v} \in L^2(0, T, V)$ ,

$$\begin{aligned}m(\vec{\gamma}; \vec{v}) + A(\vec{u}; \vec{v}) + B(\vec{v}; \vec{\lambda}) - L(\vec{v}) \\ = \lim_{M \rightarrow \infty} \left\{ \lim_{N \rightarrow \infty} \left\{ m(\vec{u}^N; P_M(\vec{v})) + A(\vec{u}^N; P_M(\vec{v})) + B(P_M(\vec{v}); \vec{\lambda}^N) - L(P_M(\vec{v})) \right. \right. \\ \left. \left. + m(\vec{\gamma} - \vec{u}^N; P_M(\vec{v})) + A(\vec{u} - \vec{u}^N; P_M(\vec{v})) + B(P_M(\vec{v}); \vec{\lambda} - \vec{\lambda}^N) \right\} \right. \\ \left. - m(\vec{\gamma}; P_M(\vec{v}) - \vec{v}) - A(\vec{u}; P_M(\vec{v}) - \vec{v}) - B(P_M(\vec{v}) - \vec{v}; \vec{\lambda}) + (P_M(\vec{v}) - \vec{v}) \right\}.\end{aligned}\tag{3.22}$$

Using at first, with  $M$  fixed, the weak convergence of  $\vec{u}^N$ ,  $\vec{u}^N$ , and  $\vec{\lambda}^N$  towards  $\vec{u}$ ,  $\vec{\gamma}$ , and  $\vec{\lambda}$  afterwards the strong convergence of  $P_M(\vec{v})$  to  $\vec{v}$  in  $L^2(0, T, V)$ , we get

$$m(\vec{\gamma}; \vec{v}) + A(\vec{u}; \vec{v}) + B(\vec{v}; \vec{\lambda}) - L(\vec{v}) = 0 \quad \forall \vec{v} \in L^2(0, T, V).\tag{3.23}$$

In the same way, we have for every  $\hat{\lambda} \in L^2(0, T, W)$ ,

$$\begin{aligned}B(\vec{u}; \hat{\lambda}) - \frac{\varepsilon^2}{1 - c_0 \varepsilon^2} C(\vec{\lambda}; \hat{\lambda}) \\ = \lim_{M \rightarrow \infty} \left\{ \lim_{N \rightarrow \infty} \left\{ B(\vec{u}^N; Q_M(\hat{\lambda})) - \frac{\varepsilon^2}{1 - c_0 \varepsilon^2} C(\vec{\lambda}^N; Q_M(\hat{\lambda})) \right. \right. \\ \left. \left. + B(\vec{u} - \vec{u}^N; Q_M(\hat{\lambda})) - \frac{\varepsilon^2}{1 - c_0 \varepsilon^2} C(\vec{\lambda} - \vec{\lambda}^N; Q_M(\hat{\lambda})) \right\} \right. \\ \left. - B(\vec{u}; Q_M(\hat{\lambda}) - \hat{\lambda}) + \frac{\varepsilon^2}{1 - c_0 \varepsilon^2} C(\vec{\lambda}; Q_M(\hat{\lambda}) - \hat{\lambda}) \right\}.\end{aligned}\tag{3.24}$$

Using the weak convergence of  $\vec{u}^N$ ,  $\vec{\lambda}^N$  towards  $\vec{u}$ ,  $\vec{\lambda}$  and the strong convergence of  $Q_M(\hat{\lambda})$  to  $\hat{\lambda}$  in  $L^2(0, T, W)$ , we get

$$B(\vec{u}; \hat{\lambda}) - \frac{\varepsilon^2}{1 - c_0 \varepsilon^2} C(\vec{\lambda}; \hat{\lambda}) = 0 \quad \forall \hat{\lambda} \in L^2(0, T, W).\tag{3.25}$$

Combining (3.23) and (3.25), we deduce that  $(\vec{u}; \vec{\lambda})$  is the solution of (3.2).  $\square$

#### 4. Space discretization

Henceforth we assume that the domain  $\omega$  is a polygon which is triangulated by a regular triangulation  $\tau^h$ ,  $\omega = \bigcup_{T \in \tau^h} T$ . The set  $\Gamma$  where Dirichlet conditions are imposed is assumed to be a union of edges of triangles in  $\tau^h$ . The set  $P_k(T)$  denotes the space of functions on  $T$  which are the restrictions of polynomial of degree  $\leq k$ . We approximate  $H_\Gamma^1$  using  $P_3$  Lagrange finite elements augmented by bubble functions and introduce the spaces

$$\begin{aligned}
 L_h^1 &= \{v \in H_\Gamma^1(\omega), v|_T \in P_3(T) \ \forall T \in \tau^h\}, \\
 B_h^1 &= \{v \in H^1(\omega), v|_T = \lambda_1 \lambda_2 \lambda_3 p, p \in P_1(T) \ \forall T \in \tau^h\}, \\
 H_h^1 &= \{v = v_1 + v_2 \text{ such that } v_1 \in L_h^1, v_2 \in B_h^1\} = L_h^1 \oplus B_h^1, \\
 L_h^2 &= \{v \in H_\Gamma^2(\omega), v|_T \in P_5(T) \ \forall T \in \tau^h\}, \\
 B_h^2 &= \{v \in H^2 \cap H_0^1(\omega), v|_T = \lambda_1^2 \lambda_2^2 \lambda_3^3 p, p \in P_1(T) \ \forall T \in \tau^h\}, \\
 H_h^2 &= \{v = v_1 + v_2 \text{ such that } v_1 \in L_h^2, v_2 \in B_h^2\} = L_h^2 \oplus B_h^2.
 \end{aligned} \tag{4.1}$$

Above,  $\lambda_1, \lambda_2,$  and  $\lambda_3$  denote the barycentric coordinates for each triangle  $T$ . We note that the space  $L_h^2$  consists of the Argyris element and  $B_h^\alpha$  are bubble function spaces that will be used for the local adjustment to achieve discrete stability. We introduce the discrete displacement and stress spaces by

$$\begin{aligned}
 V_h &= \{\vec{v}_h \in V, \vec{v}_h \cdot \underline{a}_\alpha \in H_h^1, \vec{v}_h \cdot \vec{a}_3 \in H_h^2\}, \\
 W_h &= \{\underline{\lambda}, \lambda_{\alpha\beta/T} \in P_1(T) \ \forall T\}
 \end{aligned} \tag{4.2}$$

and consider the discrete static problem

$$\begin{aligned}
 &\text{Find } \vec{u}_h \in V_h \text{ and } \underline{\lambda}_h \in W_h \text{ such that} \\
 &A(\vec{u}_h; \vec{v}) + B(\vec{v}; \underline{\lambda}_h) = L(\vec{v}) \quad \forall \vec{v} \in V_h, \\
 &B(\vec{u}_h; \hat{\underline{\lambda}}) - \frac{\epsilon^2}{1 - c_0 \epsilon^2} C(\underline{\lambda}_h; \hat{\underline{\lambda}}) = 0 \quad \forall \hat{\underline{\lambda}} \in W_h.
 \end{aligned} \tag{4.3}$$

To prove uniform convergence with respect to the shell thickness, we need the inf-sup stability hypothesis where we assume that there exists a constant  $\tilde{C} > 0$  for which we have

$$\inf_{0 \neq \underline{\lambda} \in W_h} \sup_{0 \neq \vec{v} \in V_h} \frac{B(\vec{v}; \underline{\lambda})}{\|\vec{v}\|_V \|\underline{\lambda}\|} \geq \tilde{C}. \tag{4.4}$$

In this framework, we use the following theorem proved in [3] in an abstract framework which proves a uniform convergence with respect to the thickness.

**THEOREM 4.1.** *Let  $(\vec{u}_h; \underline{\lambda}_h) \in V_h \times W_h$  be the solution of the static discrete problem (4.3) and let  $(\vec{u}; \underline{\lambda}) \in V \times W$  be the static solution associated to (3.2). If (4.4) is satisfied, there*

exists a constant  $C > 0$  such that

$$\begin{aligned} & \|\vec{u} - \vec{u}_h\|_V + \|\underline{\lambda} - \underline{\lambda}_h\| + \frac{\varepsilon^2}{1 - c_o\varepsilon^2} \|\underline{\lambda} - \underline{\lambda}_h\|_W \\ & \leq C \inf_{\hat{v} \in V_h, \hat{\lambda} \in W_h} \left\{ \|\vec{u}_s - \hat{v}\|_V + \|\underline{\lambda} - \hat{\lambda}\| + \frac{\varepsilon^2}{1 - c_o\varepsilon^2} \|\underline{\lambda} - \hat{\lambda}\|_W \right\}. \end{aligned} \quad (4.5)$$

It remains to prove that our discrete spaces verify (4.4) which is the purpose of the following lemma.

**LEMMA 4.2.** *If the chart  $\varphi$  defining the shell midsurface is in  $W^{2,\infty}(\omega)^3$  and the associated first and second fundamental forms are piecewise constant, then (4.4) is verified.*

*Proof.* The proof is based on the construction of an adequate projection operator  $\pi : V \rightarrow V_h$  satisfying

- (i)  $B(\pi \vec{v}; \underline{\lambda}) = B(\vec{v}; \underline{\lambda})$  for all  $\vec{v} \in V$ , for all  $\underline{\lambda} \in W_h$ ,
- (ii)  $\|\pi \vec{v}\|_V \leq C_o \|\vec{v}\|_V$  for all  $\vec{v} \in V$ .

In fact, we have  $\sup_{\vec{v} \in V} (B(\vec{v}; \underline{\lambda}) / \|\vec{v}\|_V \|\underline{\lambda}\|) = 1$ , so given  $\underline{\lambda} \in W_h$ , we can choose  $\vec{v} \in V$  for which  $B(\vec{v}; \underline{\lambda}) / \|\vec{v}\|_V \geq 1/2 \|\underline{\lambda}\|$ . The condition (4.4) is then verified since we have

$$\frac{B(\pi \vec{v}; \underline{\lambda})}{\|\pi \vec{v}\|_V} = \frac{B(\vec{v}; \underline{\lambda})}{\|\pi \vec{v}\|_V} \geq \frac{B(\vec{v}; \underline{\lambda})}{C_o \|\vec{v}\|_V} \geq \frac{1}{2C_o} \|\underline{\lambda}\|. \quad (4.6)$$

Let  $\pi^1 : H^1 \rightarrow H_h^1$  be the projection constructed in [3] which satisfies

$$\begin{aligned} & \|\pi^1 v\|_{H^1(T)} \leq C \|v\|_{H^1(\tilde{T})} \quad \forall T \in \tau^h, \\ & \int_e (v - \pi^1 v) p = 0 \quad \forall p \in P_1(T) \quad \forall e \in \partial T, T \in \tau^h, \\ & \int_T (v - \pi^1 v) p = 0 \quad \forall p \in P_1(T) \quad \forall T \in \tau^h, \end{aligned} \quad (4.7)$$

where  $\tilde{T}$  is the union of triangles in  $\tau^h$  which meet  $T$ .

We also have to construct a projection  $\pi^2 : H^2 \rightarrow H_h^2$  satisfying

$$\|\pi^2 v\|_{H^2(T)} \leq C \|v\|_{H^2(\tilde{T})}, \quad \int_T (v - \pi^2 v) p = 0 \quad \forall p \in P_1(T) \quad \forall T \in \tau^h. \quad (4.8)$$

A constructive way to define a map  $\pi_0^2 : H^2 \rightarrow L_h^2$  satisfying for any  $T \in \tau^h$ ,

$$\|v - \pi_0^2 v\|_{0,T} + h \|v - \pi_0^2 v\|_{1,T} + h^2 \|v - \pi_0^2 v\|_{2,T} \leq Ch^2 \|v\|_{2,\tilde{T}} \quad \forall v \in H^2 \quad (4.9)$$

can be found in [14]. We define  $\pi_1^2 : H_{\partial\omega}^2 \rightarrow B_h^2$  by the conditions

$$\int_T (v - \pi_1^2 v) p = 0 \quad \forall p \in P_1(T), \quad \forall T \in \tau^h \quad (4.10)$$

and obtain by scaling argument

$$\|v - \pi_1^2 v\|_{0,T} + h \|v - \pi_1^2 v\|_{1,T} + h^2 \|v - \pi_1^2 v\|_{2,T} \leq C \|v\|_{0,T}. \quad (4.11)$$

Finally, we set  $\pi^2 v = \pi_0^2 v + \pi_1^2(v - \pi_0^2 v)$  and obtain an operator  $\pi^2$  which verifies (4.8) and an operator  $\pi = (\pi^1, \pi^1, \pi^2)$  which verifies (i)-(ii).  $\square$

We hence obtain a finite element which is locking-free in particular cases, cylindrical shells for example. But let us note that the combination of the elements is highly unbalanced from the point of view of approximation.

### 5. Fully discretization

Because of its superior accuracy and lack of dissipation, the acceleration is usually approximated by a mid point rule

$$\left(\frac{\partial \vec{u}}{\partial t}\right)_n = \frac{\vec{u}^{n+1} - \vec{u}^n}{\Delta t} = \frac{\vec{v}^{n+1} + \vec{v}^n}{2}. \tag{5.1}$$

This leads to the fully discrete mixed formulation

$$(P_h^n) \left\{ \begin{array}{l} \text{For each } n, \text{ find } \vec{u}_h^{n+1} \in V_h, \underline{\lambda}_h^{n+1} \in W_h \text{ such that} \\ m\left(\frac{\vec{v}_h^{n+1} - \vec{v}_h^n}{\Delta t}; \vec{v}_h\right) + A\left(\frac{\vec{u}_h^{n+1} + \vec{u}_h^n}{2}, \vec{v}_h\right) \\ \quad + B\left(\vec{v}_h; \frac{\underline{\lambda}_h^{n+1} + \underline{\lambda}_h^n}{2}\right) = L^{n+1/2}(\vec{v}_h) \quad \forall \vec{v}_h \in V_h, \\ B(\vec{u}_h^{n+1}; \underline{\mu}_h) - \frac{\varepsilon^2}{1 - c_0 \varepsilon^2} C(\underline{\lambda}_h^{n+1}; \underline{\xi}_h) = 0 \quad \forall \underline{\xi}_h \in W_h, \\ \text{with} \\ \frac{\vec{u}_h^{n+1} - \vec{u}_h^n}{\Delta t} = \frac{\vec{v}_h^{n+1} + \vec{v}_h^n}{2}, \quad L^{n+1/2} = \frac{L^{n+1} + L^n}{2}. \end{array} \right. \tag{5.2}$$

The convergence analysis will be based on the study of an error equation between the discrete solution and an appropriate projection of the continuous one. Let  $(\vec{u}, \underline{\lambda})$  be the solution of (3.2); we construct displacement and multiplier projections by solving at time  $t_n$ ,

$$\begin{aligned} & (\pi \vec{u}^n, \pi_m \underline{\lambda}^n) \in V_h \times W_h, \\ & A(\pi \vec{u}^n; \vec{v}_h) + B(\vec{v}_h; \pi_m \underline{\lambda}^n) = A(\vec{u}(t_n); \vec{v}_h) + B(\vec{v}_h; \underline{\lambda}(t_n)) \quad \forall \vec{v}_h \in V_h \\ & B(\pi \vec{u}^n; \hat{\underline{\lambda}}_h) - \frac{\varepsilon^2}{1 - c_0 \varepsilon^2} C(\pi_m \underline{\lambda}^n; \hat{\underline{\lambda}}_h) = 0 \quad \forall \hat{\underline{\lambda}}_h \in W_h. \end{aligned} \tag{5.3}$$

We define a discrete approximation of velocity fields and errors fields by

$$\begin{aligned} \frac{\pi \vec{v}^{n+1} + \pi \vec{v}^n}{2} &= \frac{\pi \vec{u}^{n+1} - \pi \vec{u}^n}{\Delta t}, & \pi \vec{v}^0 &= \pi \vec{u}^0, \\ e \vec{u}^n &= \vec{u}_h^n - \pi \vec{u}^n, & e \vec{v}^n &= \vec{v}_h^n - \pi \vec{v}^n, & e \underline{\lambda}^n &= \underline{\lambda}_h^n - \pi_m \underline{\lambda}^n \end{aligned} \tag{5.4}$$

and have the following theorem.

THEOREM 5.1. *The errors defined below are solutions of the problem:*

$$\begin{aligned} m\left(\frac{e\vec{v}^{n+1} - e\vec{v}^n}{\Delta t}; \vec{\hat{v}}_h\right) + A\left(\frac{e\vec{u}^{n+1} + e\vec{u}^n}{2}, \vec{\hat{v}}_h\right) + B\left(\vec{\hat{v}}_h; \frac{e\lambda^{n+1} + e\lambda^n}{2}\right) \\ = m\left(\frac{\vec{v}(t_{n+1}) + \vec{v}(t_n)}{2} - \frac{\pi\vec{v}^{n+1} - \pi\vec{v}^n}{\Delta t}; \vec{\hat{v}}_h\right) \quad \forall \vec{\hat{v}}_h \in V_h, \end{aligned} \quad (5.5)$$

$$B(e\vec{u}^{n+1}; \xi_{\underline{h}}) - \frac{\varepsilon^2}{1 - c_0\varepsilon^2} C(e\lambda^{n+1}; \xi_{\underline{h}}) = 0 \quad \forall \xi_{\underline{h}} \in W_h. \quad (5.6)$$

*Proof.* Since  $(\vec{u}_h^n; \lambda_h^n)$  is solution of  $(P_h^n)$  and  $(\vec{u}; \lambda)$  is solution of (3.2), we have

$$\begin{aligned} m\left(\frac{e\vec{v}^{n+1} - e\vec{v}^n}{\Delta t}; \vec{\hat{v}}_h\right) + A\left(\frac{e\vec{u}^{n+1} + e\vec{u}^n}{2}, \vec{\hat{v}}_h\right) + B\left(\vec{\hat{v}}_h; \frac{e\lambda^{n+1} + e\lambda^n}{2}\right) \\ = L^{n+1/2}(\vec{\hat{v}}_h) - m\left(\frac{\pi\vec{v}^{n+1} - \pi\vec{v}^n}{\Delta t}; \vec{\hat{v}}_h\right) - A\left(\frac{\pi\vec{u}^{n+1} + \pi\vec{u}^n}{2}, \vec{\hat{v}}_h\right) \\ - B\left(\vec{\hat{v}}_h; \frac{\pi_m\lambda^{n+1} + \pi_m\lambda^n}{2}\right) \\ = m\left(\frac{\vec{v}(t_{n+1}) + \vec{v}(t_n)}{2}; \vec{\hat{v}}_h\right) - m\left(\frac{\pi\vec{v}^{n+1} - \pi\vec{v}^n}{\Delta t}; \vec{\hat{v}}_h\right) \\ - A\left(\frac{\vec{u}(t_{n+1}) + \vec{u}(t_n)}{2}, \vec{\hat{v}}_h\right) - B\left(\vec{\hat{v}}_h; \frac{\lambda(t_{n+1}) + \lambda(t_n)}{2}\right) \quad \forall \vec{\hat{v}}_h \in V_h, \end{aligned} \quad (5.7)$$

which proves (5.5). Equation (5.6) is a direct consequence of the  $\pi_m$  definition.  $\square$

## 6. Convergence

We set for  $\vec{\hat{v}}_h \in V_h$ ,  $L_1^{n+1/2}(\vec{\hat{v}}_h) = m((\vec{v}(t_{n+1}) + \vec{v}(t_n))/2 - (\pi\vec{v}^{n+1} - \pi\vec{v}^n)/\Delta t, \vec{\hat{v}}_h)$  and write (5.5) at time  $t_n$ , with the test function  $\vec{\hat{v}}_h = \Delta t((e\vec{v}_h^n + e\vec{v}_h^{n-1})/2) \in V_h$ . By adding the resulting equations from one to  $n$  and using (5.6), we obtain

$$\begin{aligned} \frac{1}{2}m(e\vec{v}^n; e\vec{v}^n) + \frac{1}{2}A(e\vec{u}^n; e\vec{u}^n) + \frac{\varepsilon^2}{2(1 - c_0\varepsilon^2)} C(e\lambda^n; e\lambda^n) \\ = \sum_{i=1}^n L_1^{i-1/2}(e\vec{u}^i - e\vec{u}^{i-1}) + \frac{1}{2}m(e\vec{v}^0, e\vec{v}^0) + \frac{1}{2}A(e\vec{u}^0; e\vec{u}^0) + \frac{\varepsilon^2}{2(1 - c_0\varepsilon^2)} C(e\lambda^0; e\lambda^0). \end{aligned} \quad (6.1)$$

Hence, the energy estimate on the error leads to an error bound if we control the truncation errors  $L_1^{i-1/2}$ . This is the purpose of the following lemma.

LEMMA 6.1. *The inertia truncation error satisfies*

$$\begin{aligned} \sum_{i=1}^n L_1^{i-1/2} (e \bar{u}^i - e \bar{u}^{i-1}) &\leq \frac{\Delta t}{4} \sum_{i=1}^{n-1} m(e \bar{v}^i, e \bar{v}^i) + \frac{1}{4} m(e \bar{v}^0, e \bar{v}^0) \\ &+ \frac{1}{4} m(e \bar{v}^n, e \bar{v}^n) + C_o \left\{ \Delta t^2 \| \bar{u} \|_{W^{4,\infty}(0,T;L^2)} + \| (\pi - \text{Id})(\bar{u}) \|_{W^{2,\infty}(0,T;L^2)} \right\}^2. \end{aligned} \quad (6.2)$$

*Proof.* We note for  $n \geq 1$ ,  $t \bar{v}_n = (\bar{v}(t_n) + \bar{v}(t_{n-1}))/2 - (\pi \bar{v}^n - \pi \bar{v}^{n-1})/\Delta t$ . By definition of the error field, we have

$$\begin{aligned} \sum_{i=1}^n L_1^{i-1/2} (e \bar{u}^i - e \bar{u}^{i-1}) &= \Delta t \sum_{i=1}^n m \left( tv_i, \frac{e \bar{v}^i + e \bar{v}^{i-1}}{2} \right) \\ &= \frac{\Delta t}{2} \sum_{i=1}^{n-1} m(t \bar{v}_i + t \bar{v}_{i+1}, e \bar{v}^i) + \frac{\Delta t}{2} m(t \bar{v}_n, e \bar{v}^n) + \frac{\Delta t}{2} m(t \bar{v}_1, e \bar{v}^0). \end{aligned} \quad (6.3)$$

By Cauchy Schwarz, we deduce the estimate

$$\begin{aligned} \left| \sum_{i=1}^n L_1^{i-1/2} (e \bar{u}^i - e \bar{u}^{i-1}) \right| &\leq \frac{\Delta t}{4} \sum_{i=1}^{n-1} m(e \bar{v}^i, e \bar{v}^i) \\ &\leq C_o \left\{ \frac{1}{4} m(e \bar{v}^0, e \bar{v}^0) + \frac{\Delta t^2}{4} \| t \bar{v}_1 \|_{L^2}^2 \right. \\ &\quad \left. + \frac{\Delta t}{4} \sum_{i=1}^{n-1} \| t \bar{v}_i + t \bar{v}_{i+1} \|_{L^2}^2 + \frac{1}{4} m(e \bar{v}^n, e \bar{v}^n) + \frac{\Delta t^2}{4} \| t \bar{v}_n \|_{L^2}^2 \right\}. \end{aligned} \quad (6.4)$$

By definition of projection operators, we have for each  $i \geq 1$ ,

$$\begin{aligned} t \bar{v}_i + t \bar{v}_{i+1} &= \frac{\bar{v}(t_{i+1}) + 2 \bar{v}(t_i) + \bar{v}(t_{i-1})}{2} - \frac{\pi \bar{v}^{i+1} - \pi \bar{v}^{i-1}}{\Delta t} \\ &= \left\{ \frac{\bar{v}(t_{i+1}) + 2 \bar{v}(t_i) + \bar{v}(t_{i-1})}{2} - 2 \frac{\bar{u}^{i+1} - 2 \bar{u}^i + \bar{u}^{i-1}}{\Delta t^2} \right\} \\ &\quad - 2(\pi - \text{Id}) \left( \frac{\bar{u}(t_{i+1}) - 2 \bar{u}(t_i) + \bar{u}(t_{i-1}))}{\Delta t^2} \right). \end{aligned} \quad (6.5)$$

By Taylor expansion, we get for  $i = 1, n - 1$ ,

$$\| t \bar{v}_i + t \bar{v}_{i+1} \|_{L^2} \leq \frac{\Delta t^2}{2} \| \bar{u} \|_{W^{4,\infty}(0,T;L^2)} + C_o \| (\pi - \text{Id}) \bar{u} \|_{W^{2,\infty}(0,T;L^2)}. \quad (6.6)$$

For  $i = n - 1$ , we obtain

$$\| t \bar{v}_n \|_{L^2} \leq \| tv_{n-1} \|_{L^2} + \frac{\Delta t^2}{2} \| \bar{u} \|_{W^{4,\infty}(0,T;L^2)} + C_o \| (\pi - \text{Id})(\bar{u}) \|_{W^{2,\infty}(0,T;L^2)}. \quad (6.7)$$

By adding, from  $i = 2$  until  $n$ , it remains

$$\|t \vec{v}_n\|_{L^2} \leq \|t \vec{v}_1\|_{L^2} + \frac{C_o}{\Delta t} \{ \Delta t^2 \|\vec{u}\|_{W^{4,\infty}(0,T)} + \|(\pi - \text{Id})\vec{u}\|_{W^{2,\infty}(0,T)} \}. \quad (6.8)$$

To estimate  $t\nu_1$ , we use its definition

$$\begin{aligned} t \vec{v}_1 &= \frac{\vec{v}(t_1) + \vec{v}(t_0)}{2} + 2 \frac{\vec{v}(t_0)}{\Delta t} - 2 \frac{\vec{u}(t_1) - \vec{u}(t_0)}{\Delta t^2} \\ &\quad - 2(\pi - \text{Id}) \left( \frac{\vec{u}(t_1) - \vec{u}(t_0)}{\Delta t^2} - \frac{\vec{v}(t_0)}{\Delta t} \right). \end{aligned} \quad (6.9)$$

We deduce that

$$\Delta t \|t \vec{v}_1\|_{L^2} \leq C_o \frac{\Delta t^2}{2} \|\vec{u}\|_{W^{4,\infty}(0,T;L^2)} + C_o \|(\pi - \text{Id})\vec{u}\|_{W^{2,\infty}(0,T;L^2)}. \quad (6.10)$$

The lemma is deduced by combining (6.4), (6.6), (6.8), and (6.10).  $\square$

We are thus able to prove the main convergence result.

**THEOREM 6.2.** *Under the hypothesis of Theorem 3.2, the errors on displacement field  $\vec{u}_h^n - \vec{u}(t_n)$ , on velocity field  $\vec{v}_h^n - \vec{v}(t_n)$  and on membrane stress  $\underline{\lambda}_h^n - \underline{\lambda}(t_n)$  satisfy*

$$\begin{aligned} &\Delta t \|\vec{v}(t_n) - \vec{v}_h^n\|_{L^2} + \|\vec{u}(t_n) - \vec{u}_h^n\|_V + \varepsilon \|\underline{\lambda}(t_n) - \underline{\lambda}_h^n\|_{L^2} + \|\underline{\lambda}(t_n) - \underline{\lambda}_h^n\| \\ &\leq C_o \left\{ \Delta t \|e \vec{v}^0\|_{L^2} + \|e \vec{u}^0\|_{H^1} + \varepsilon \|e \underline{\lambda}^0\|_{L^2} + \Delta t^2 \|\vec{u}\|_{W^{4,\infty}(0,T;L^2)} \right. \\ &\quad \left. + h^2 \left\{ \|\vec{u}\|_{L^\infty(0,T;H^3)} + \|\underline{\lambda}\|_{L^\infty(0,T;H^2)} + \|\vec{u} \cdot \vec{a}_3\|_{W^{2,\infty}(0,T;H^4)} \right\} \right\}. \end{aligned} \quad (6.11)$$

*Proof.* From (6.1) and (6.2), we have

$$\begin{aligned} &\frac{1}{4} m(e \vec{v}^n; e \vec{v}^n) + \frac{1}{2} A(e \vec{u}^n; e \vec{u}^n) + \frac{\varepsilon^2}{2(1 - c_0 \varepsilon^2)} C(e \underline{\lambda}^n; e \underline{\lambda}^n) \\ &\leq \frac{3}{4} m(e \vec{v}^0; e \vec{v}^0) + \frac{1}{2} A(e \vec{u}^0; e \vec{u}^0) + \frac{\varepsilon^2}{2(1 - c_0 \varepsilon^2)} C(e \underline{\lambda}^0; e \underline{\lambda}^0) \\ &\quad + \frac{\Delta t}{4} \sum_{i=1}^{n-1} m(e \vec{v}^i; e \vec{v}^i) + C_o \left\{ \Delta t^2 \|\vec{u}\|_{W^{4,\infty}(0,T;L^2)} + \|(\pi - \text{Id})(\vec{u})\|_{W^{2,\infty}(0,T;L^2)} \right\}^2. \end{aligned} \quad (6.12)$$

Using the discrete Gronwall's lemma with  $\theta = (1/4) \sum_{i=1}^{n-1} m(e \vec{v}^i; e \vec{v}^i)$  and

$$\begin{aligned} E &= \frac{3}{4} m(e \vec{v}^0; e \vec{v}^0) + \frac{1}{2} A(e \vec{u}^0; e \vec{u}^0) + \frac{\varepsilon^2}{2(1 - c_0 \varepsilon^2)} C(e \underline{\lambda}^0; e \underline{\lambda}^0) \\ &\quad + C_o \left\{ \Delta t^2 \|\vec{u}\|_{W^{4,\infty}(0,T;L^2)} + \|(\pi - \text{Id})(\vec{u})\|_{W^{2,\infty}(0,T;L^2)}^2 \right\}^2, \end{aligned} \quad (6.13)$$

we obtain

$$\begin{aligned}
& \frac{1}{4}m(e\bar{v}^n; e\bar{v}^n) + \frac{1}{2}A(e\bar{u}^n; e\bar{u}^n) + \frac{\varepsilon^2}{2(1-c_0\varepsilon^2)}C(e\bar{\lambda}^n; e\bar{\lambda}^n) \\
& \leq C_o \left\{ m(e\bar{v}^0; e\bar{v}^0) + A(e\bar{u}^0; e\bar{u}^0) + \frac{\varepsilon^2}{2(1-c_0\varepsilon^2)}C(e\bar{\lambda}^0; e\bar{\lambda}^0) \right. \\
& \quad \left. + \left\{ \Delta t^2 \|\bar{\mathbf{u}}\|_{W^{4,\infty}(0,T;L^2)} + \|(\pi - \text{Id})(\bar{\mathbf{u}})\|_{W^{2,\infty}(0,T;L^2)}^2 \right\} \right\}.
\end{aligned} \tag{6.14}$$

To prove the required error estimation, we observe that we have

$$\begin{aligned}
\bar{\mathbf{u}}_h^n - \bar{\mathbf{u}}(t_n) &= e\bar{\mathbf{u}}^n - \bar{\mathbf{u}}(t_n) - \pi\bar{\mathbf{u}}^n, \\
\bar{\mathbf{v}}_h^n - \bar{\mathbf{v}}(t_n) &= e\bar{\mathbf{v}}^n - \bar{\mathbf{v}}(t_n) - \pi\bar{\mathbf{v}}^n, \\
\bar{\lambda}_h^n - \bar{\lambda}(t_n) &= e\bar{\lambda}^n - \bar{\lambda}(t_n) - \pi_m^n \bar{\lambda}.
\end{aligned} \tag{6.15}$$

The terms  $\bar{\mathbf{u}}(t_n) - \pi\bar{\mathbf{u}}^n$ ,  $\bar{\lambda}(t_n) - \pi_m^n \bar{\lambda}$  can be bounded using Theorem 3.2 and we obtain for each  $n$ ,

$$\begin{aligned}
& \|\bar{\mathbf{u}}(t_n) - \pi\bar{\mathbf{u}}^n\|_V + \| \|\bar{\lambda}(t_n) - \pi_m \bar{\lambda}^n\| \| + \varepsilon \|\bar{\lambda}(t_n) - \pi_m \bar{\lambda}^n\|_W \\
& \leq C_o h^2 \left\{ \|\bar{\mathbf{u}}(t_n)\|_{H^3} + \|\bar{\mathbf{u}}(t_n) \cdot \bar{\mathbf{a}}_3\|_{H^4} + \|\bar{\lambda}(t_n)\|_{H^2} \right\}.
\end{aligned} \tag{6.16}$$

Moreover, for the additional term associated to velocities, we write using projection velocities operators,

$$\begin{aligned}
\pi\bar{\mathbf{v}}^n - \bar{\mathbf{v}}(t_n) &= 2 \sum_{i=1}^n (\pi - \text{id}) \left( \frac{\bar{\mathbf{u}}(t_i) - \bar{\mathbf{u}}(t_{i-1})}{\Delta t} \right) \\
& \quad - \sum_{i=1}^n \left\{ \bar{\mathbf{v}}(t_i) - \bar{\mathbf{v}}(t_{i-1}) - 2 \frac{\bar{\mathbf{u}}(t_i) - \bar{\mathbf{u}}(t_{i-1})}{\Delta t} \right\} + (\pi - \text{id})(\bar{\mathbf{u}})(t_0).
\end{aligned} \tag{6.17}$$

We deduce, by Taylor expansion, that

$$\|\pi\bar{\mathbf{v}}^n - \bar{\mathbf{v}}(t_n)\|_{L^2} \leq C_o \left\{ \Delta t \|\bar{\mathbf{u}}\|_{W^{3,\infty}(0,T;L^2)} + \|(\pi - \text{id})\bar{\mathbf{u}}\|_{L^\infty(0,T;L^2)} \right\}. \tag{6.18}$$

The theorem follows by combining (6.14), (6.16), and (6.18).  $\square$

## 7. Conclusion

We have presented a well-posed dynamic mixed formulation for a shell problem and its approximation by finite elements. We also proved the time and uniform space convergence of our method. Our approach, which is valid for bending-dominated Koiter shells, avoids locking under a strong restriction assumption on the geometrical midsurface and a highly unbalanced combination of finite elements.

## References

- [1] D. Chapelle and R. Stenberg, “Stabilized finite element formulations for shells in a bending dominated state,” *SIAM Journal on Numerical Analysis*, vol. 36, no. 1, pp. 32–73, 1999.
- [2] D. Chapelle, “Etude du verrouillage numérique de quelques méthodes d’éléments finis pour les coques,” Tech. Rep. 2740, INRIA, Le Chesnay Cedex, France, 1995.
- [3] D. N. Arnold and F. Brezzi, “Locking-free finite element methods for shells,” *Mathematics of Computation*, vol. 66, no. 217, pp. 1–14, 1997.
- [4] F. Brezzi, “Towards shell elements avoiding locking in the general case,” in *Shells, Mathematical Modelling and Scientific Computing*, M. Bernadou, P. G. Ciarlet, and J. M. Viano, Eds., vol. 105 of *Courses and Conferences of the University of Santiago de Compostela*, pp. 45–48, Universidade de Santiago de Compostela, Santiago de Compostela, Chile, 1997.
- [5] J. H. Bramble and T. Sun, “A locking-free finite element method for Naghdi shells,” *Journal of Computational and Applied Mathematics*, vol. 89, no. 1, pp. 119–133, 1998.
- [6] G. Yang, M. C. Delfour, and M. Fortin, “Error analysis of mixed finite elements for cylindrical shells,” in *Plates and Shells (Québec, QC, 1996)*, vol. 21 of *CRM Proc. Lecture Notes*, pp. 267–280, American Mathematical Society, Providence, RI, USA, 1999.
- [7] M. Bernadou, *Méthodes d’éléments finis pour les problèmes de coques minces*, Masson, Paris, France, 1994.
- [8] A. Blouza and H. Le Dret, “Existence et unicité pour le modèle de Koiter pour une coque peu régulière,” *Comptes Rendus de l’Académie des Sciences*, vol. 319, no. 10, pp. 1127–1132, 1994.
- [9] M. Bernadou and P. G. Ciarlet, “Sur l’ellipticité du modèle linéaire de coques de W. T. Koiter,” in *Computing Methods in Applied Sciences and Engineering (Second Internat. Sympos., Versailles, 1975)—Part 1*, vol. 134 of *Lecture Notes in Econom. and Math. Systems*, pp. 89–136, Springer, Berlin, Germany, 1976.
- [10] P. G. Ciarlet, *Introduction to Linear Shell Theory*, vol. 1 of *Series in Applied Mathematics (Paris)*, Gauthier-Villars, Paris, France; North-Holland, Amsterdam, The Netherlands, 1998.
- [11] A. Blouza, F. Brezzi, and C. Lovadina, “Sur la classification des coques linéairement élastiques,” *Comptes Rendus de l’Académie des Sciences*, vol. 328, no. 9, pp. 831–836, 1999.
- [12] L. Xiao, “Asymptotic analysis of dynamic problems for linearly elastic shells—justification of equations for dynamic Koiter shells,” *Chinese Annals of Mathematics*, vol. 22, no. 3, pp. 267–274, 2001.
- [13] J.-L. Lions, *Quelques méthodes de résolution des problèmes aux limites non linéaires*, Dunod, Paris, France, 1969.
- [14] X. Zhang, “Two-level Schwarz methods for the biharmonic problem discretized conforming  $C^1$  elements,” *SIAM Journal on Numerical Analysis*, vol. 33, no. 2, pp. 555–570, 1996.

Saloua Mani Aouadi: Institut Supérieur d’Informatique, Université Tunis El Manar,  
Tunis 2080, Tunisia  
Email address: saloua.mani@fst.rnu.tn